PITT Qube RV-15-AAA-1

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/1513:33:51




PITT Qube

RV-15-AAA-1

No. mE & - HME B Eff iBE

2 045233302 [MS-1O0VE49 v 2 *x+v v 7 (iF) PP K-70147% |1 O[9I THt#A
fDIC-156

3 045014003  [KK-18X 4v5%497° 1° vxY NEBR My VL 1 500
3

4 045078401 |RM-107Y —H—2R Ry 1 200

5 040048002 [HS-251 A AL —F— PP K10148 |1 200

6 045093304 [KK-18XA ML —F— 045;093305: 1 1,400
AY]

7 045080803 [RM-15:t&HhHv 7 PE LH606 1¥1|1 400
3 USDO0.63

9 045251804 [RV-10:R> 7 L&} PP V7000- |1 2,100
GF202

11 045252101  [RV-10 ¥ 4%¥754h10° - EVA 1 400

12 045252001  |RV-10 4" 4¥734 EPDM70° 1 1,900

13 045252302 |RV-105 v ZEEHRI + SUS201 1 900

14 045253502 |RV-104 14 ¥ 75 ALK SS400 1 300

15 045252202 [RV-105 v & SUS304 1 2,200

18 (045260301 0) v P22 FR 1 200

20 045256801 [RV-10&LHRTY VY SUS304WPB |1 300

21 889855030 |[OYY4 P30 NBR70° 1 200

22 045252603 |RV-10R&LF+197° PP KE7no3o 451 200
J1=E%

23 045070305 [RM-10 F+ v /N— PE HDPE 1 500
9003 +#13M

24  |889955045 [0Yv4" G45 NBR G45 NBR 1 200

26 045262301 SHRELRTERGEFRNRY SUS M5x22 (8 200

27 827405006 ["EF v b M6 1 fE@ b 1 200
U

28 045265601 SEELRTFERNEFRNRY SUS304 1 200
M6x16

29 045261504  [RV-10RY FIRAFR— R I;vcso" EER (1 300
—R

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1513:33:51




PITT Qube RV-15-AAA-1
No. m m Mg - ME B EM e
30 045715601 RV-159 Y JARABRAFR—R I I A 1 900
31 045328601 RV-100k AAp-1- PP 1 200
32 |045227802 [S-10 75 vInRyFy FR70° 1 600
R Vi@
33 045020601 MS-4 & 5 [T RER SUS 1 200
¢ 14x ¢ 28x
T1
34 045020402  [MS-4 /XA /XX F v b BS 1 200
35 045262601 RV-104&k 27 U v 7 SK5 2 200
36 |045252702 |RV-10RY FH/N— PP 1 400
K7014 (&
) UK E
37 045102402  [KK-18X J7°# Wb M6x10 1 300
38 045239201 KK-10V / 7RIV T w >+ — PvC 1 200
40 045253003 RV-10/\Y KLY —T PP 4 200
41 045267005 |RV-10RF v FEY SUS304WPB |5 200
#42° 8F
42 045845801 RV-TO NV RILT = 1 1,500
43  |045074202 |RM-10 7v 4 7L —h SUS304 1 1,100
44 045265701 SRELRTFERMEFNN©RY SUS304 3 200
M6x10
45 045265801 SHELRTFERMEFN©RY SUS304 4 200
M6x12
46 045015302 |MS-4~NJLhT v D SUS RM-10R|1 1,500
47 045837101 KK-10Vyah8™ -A" b M33F (43) ARPA-351 1 1,100
48 045837001 KK-10Vyalg™ -A" W3Ld™ Y(43) &PA-350 1 1,100
49 045259801 RV-10 EHT/Xv b 1 1,600
50 045846103 RV-1OMH/R—R 7 X 1 1,000
51 045053201 KK 9%y PVC70° 1 200
52 040817003 HS-W /2 WA {R9y PA179 " b-WCBHA |1 800|PA-179(4971770-402126)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1513:33:51




PITT Qube

RV-15-AAA-1

No. mE & - HME B Eff iBE
53 045842303 [PA-287 ./ ZJL/34 T#A 0109282 PA-|1 3,100|PA-287(4971770-107823)
287
54 045106802 (KK JA" kN 47° 1\ v&Y NBROO* 1 200
+5° a0y VL
R
55 045248201  [DK-10 /A" MAdVH 045248202z |1 200
A9 47 b- DIC
G-144
56 045253102 |RV-10IRAERRE 7S T4 PP Kn701 4551 200
1=ER
57 0109283 PA-288 2FEOMENO (15EOLNE) # 1 1,500|PA-288(4971770-107830)
58 045708403  |RV i -fFERREMEO)3(HT) PA105 0108758 PA-|1 2,800
105
59 045020301  [MS-4 {FRKEES NI 1 100
60 045259201 |RV-15 Z#S5 ~NJL(15L) 1 300
61 045224402  [KK-10V ERIERSRIL 7-10-1558@ |1 200
62 045264101 RV- 10 EDEES NI 1 200
63 045259701 |RV-15 J AN S ~JL(15L) 1 100
64 045700803  [MS-10VE¥ 4%4y7° 43 NEUBEEE |1 1,100
PVCHH Y
65 045312401 RV-10;8MEA SRR (31 04%31 2402- |1 200|ZEBFIN - F
V|
66 045312601  [RV-10BFREAMENRN 9%y (F) NBR 1 200(EBFN - F
67 045312501 RV-10;8MERER G 1 200|EBFIN -F
68 040072503 |HSHARKREAEOXY v S o4c;o725o4: 1 200|Bhn --FEERIN -H5@
Vi
69 045264201 [RV-10x—R /Y R SUS304 WPB|2 200
70 045261601 |RV-10% ¥ 7 AR AR —R PVC 1 300
71 045281801 |[RV-10 2 v<avdL (hK) NBR60° 1 200
72 045281701 [RV-10 2 v a3 v 3L (k) NBR60° 1 200
73 045389101  [KK-10V yaly™ -A" WMk H 1 2,100
74 889855009 [OYy4" P9 NBR P9 NBR 70° |1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1513:33:51




PITT Qube RV-15-AAA-1

Mg - HE BRI Eff

75 045368201 JS-109 v U ¥ v v TH 1170881 1 200

Copyright(c) KOSHIN Ltd. All Rights 5 2025/01/15 13:33:51
Reserved.



